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[image: image2.png]. Construct a pro forma balance sheet that indicates the firm’s optimal capital
structure. Compare this balance sheet with the firm’s current balance sheet.
What course of action should the firm take?

Assets $100 Debt $?
Equity $?

As a firm initially substicutes debe for cquity financing, what happens to the cost
of capital, and why?

If a firm uses too much debt financing, why does the cost of capital risc?




Hints:

Part A
The cost of capital (k) is a weighted average:  

k = (weight)(cost of debt) + weight(cost of   equity)

Part B

The optimal capital structure is that combination, which minimizes the firm's cost of capital. At what point is the firm’s cost of capital lowerst?

Balance Sheet

Assets

Liabilities

Equity

Part C
What happens to the cost of capital?  Increases?  Declines?

Part D
As the firm continues to substitute debt for equity does the firm becomes more financially leveraged and riskier?  If so, what happens to the interest rate and the cost of equity

